



**BID PROPOSAL**

**EI Portal Drive Road Settlement Project**

KEREX ENGINEERING INC. ("Bidder") hereby submits this Bid Proposal to the City of San Pablo ("City") for the above-referenced project ("Project") in response to the Notice Inviting Bids and in accordance with the Contract Documents referenced therein.

1. **Base Bid.** Bidder proposes to perform and fully complete the Work for the Project as specified in the Contract Documents, within the time required for full completion of the Work, for the following price ("Base Bid"):  
\$ 81,868.00

2. **Bid Alternates.** Bidder submits the following prices for the specified bid alternates:

Additive Alternate #A: Pavement Reconstruction Work  
Add/Deduct: \$ 63,940.00

2. **Addenda.** Bidder acknowledges receipt of the following addenda:

Addendum:	Date Received:	Addendum:	Date Received:
#01	_____	#05	_____
#02	_____	#06	_____
#03	_____	#07	_____
#04	_____	#08	_____

3. **Bidder's Warranties.** By signing and submitting this Bid Proposal, Bidder warrants the following:

3.1 **Examination of Contract Documents.** Bidder has thoroughly examined the Contract Documents, and represents that, to the best of Bidder's knowledge there are no errors, omissions, or discrepancies in the Contract Documents subject to the limitations of Public Contract Code Section 1104.

3.2 **Examination of Worksite.** Bidder has had the opportunity to examine the Worksite and local conditions at the Project location.

3.3 **Bidder is Qualified.** Bidder is fully qualified to perform the Work.

3.4 **Responsibility for Bid.** Bidder has carefully reviewed this Bid Proposal and is solely responsible for any errors or omissions contained in its completed Bid.

4. **Award of Contract.** By signing and submitting this Bid Proposal, Bidder agrees that within ten days following written notice from City staff regarding intent to recommend the City Council award the Contract to Bidder, and attaching a copy of the Contract form based on Bidder's Bid Proposal, Bidder will do all of the following:

4.1 **Execute Contract.** Execute and submit to City the Contract provided by City;

4.2 **Submit Required Bonds.** Submit to City a payment bond and a performance bond, each for 100% of the Contract Price, using the bond forms provided and in accordance with the requirements of the Contract Documents; and

4.3 **Insurance Requirements.** Submit to City the insurance certificate(s) and endorsement(s) as required by the Contract Documents.

5. **Bid Security.** As a guarantee that if awarded the Contract, it will perform its obligations under Section 4, above, Bidder is enclosing bid security in the amount of ten percent of its maximum bid amount in the following form:

\_\_\_\_\_ A cashier's check or certified check payable to City and issued by \_\_\_\_\_ Bank in the amount of \$ \_\_\_\_\_.

A bid bond, using the Bid Bond form included with the Contract Documents, payable to City and executed by a surety licensed to do business in the State of California.

This Bid Proposal is hereby submitted on NOV 13th, 2017:

s/ PA M

PATRICK MADDEN PRESIDENT.  
Name and Title [print]

s/ \_\_\_\_\_

\_\_\_\_\_  
Name and Title [print]

VEREX ENGINEERING INC  
Company Name

1008913 A  
License # and Classification

1000033698  
DIR Registration #

PO BOX 23831  
Address

347-613-5788  
Phone

PLEASANT HILL, CA 94523  
City, State, Zip

877-413-9730  
Fax

END OF BID PROPOSAL

**BID SCHEDULE**  
**EI Portal Drive Road Settlement Project**  
**POR-FDM**

This Bid Schedule must be completed in ink and must be included with the sealed Bid Proposal. The unit cost for each item must be inclusive of all costs, whether direct or indirect, including profit and overhead. The sum of all amounts entered in the "Extended Total Amount" column must be identical to the Base Bid price entered in Section 1 of the Bid Proposal Form. See Instructions to Bidders for further information.

BID ITEM NO.	ITEM DESCRIPTION	EST. QUANT.	UNIT	UNIT COST	EXTENDED TOTAL AMOUNT
1	Traffic Control	1	LS	\$ 7,500	\$ 7,500
2	Construction Area Sign	6	EA	\$ 100	\$ 600
3	Excavation Safety	1	LS	\$ 2,500	\$ 2,500
4	Remove Existing AC Patch	240	SF	\$ 10	\$ 2,400
5	Remove Concrete (SW)	1,142	SF	\$ 10	\$ 11,420
6	Hot Mix Asphalt (Type-A)	14	TON	\$ 400	\$ 5,600
7A	Roadway Excavation	44	CY	\$ 200	\$ 8,800
7B	Class II AB	34	CY	\$ 140	\$ 4,760
8	Slurry Cement Backfill	3	CY	\$ 500	\$ 1,500
9	Reconstruct Standard Curb and Gutter	129	LF	\$ 65	\$ 8,385
10	Sidewalk	1,106	SF	\$ 17	\$ 18,802
11	Retaining Curb and Thickened Edge	8	LF	\$ 400	\$ 3,200
12	Adjust Utilities to Grade	1	LS	\$ 2,500	\$ 2,500
13	Reset Roadside Sign	1	EA	\$ 1,500	\$ 1,500
14A	Roadway Excavation (Overexcavation Below Sidewalk) (Revocable Pay Item)	60	CY	\$ 20	\$ 1,200
14B	Class II AB (Overexcavation Below Sidewalk) (Revocable Pay Item)	60	CY	\$ 20	\$ 1,200
15	Supplemental Work	1	LS	\$ 1	\$ 1

TOTAL BASE BID: Items 1 through 15 inclusive: \$ 81,868.00 (PM)

*[Note: The amount entered as the "Total Base Bid" should be identical to the Base Bid amount entered in Section 1 of the Bid Proposal form. The lowest bid will be the lowest bid price on the base contract without consideration of the prices on the additive or deductive items.]*





**NONCOLLUSION DECLARATION**

TO BE EXECUTED BY BIDDER AND SUBMITTED WITH BID

The undersigned declares:

I am the PRESIDENT of KEREX ENGINEERING, the party making the foregoing bid.

The bid is not made in the interest of, or on behalf of, any undisclosed person, partnership, company, association, organization, or corporation. The bid is genuine and not collusive or sham. The bidder has not directly or indirectly induced or solicited any other bidder to put in a false or sham bid. The bidder has not directly or indirectly colluded, conspired, connived, or agreed with any bidder or anyone else to put in a sham bid, or to refrain from bidding. The bidder has not in any manner, directly or indirectly, sought by agreement, communication, or conference with anyone to fix the bid price of the bidder or any other bidder, or to fix any overhead, profit, or cost element of the bid price, or of that of any other bidder. All statements contained in the bid are true. The bidder has not, directly or indirectly, submitted his or her bid price or any breakdown thereof, or the contents thereof, or divulged information or data relative thereto, to any corporation, partnership, company, association, organization, bid depository, or to any member or agent thereof, to effectuate a collusive or sham bid, and has no paid and will not pay, any person or entity for such purpose.

This declaration is intended to comply with California Public Contract Code Section 7106 and Title 23 U.S.C Section 112.

I declare under penalty of perjury under the laws of the State of California that the foregoing is true and correct and that this declaration is executed on 11/13/17 [date], at PLEASANT HILL [city], CA [state].

s/ 

PATRICK MADDEN PRESIDENT.  
Name and Title [print]

END OF NONCOLLUSION DECLARATION

BID BOND (SEE ATTACHED)

\_\_\_\_\_ ("Bidder") has submitted a bid, dated \_\_\_\_\_, 20\_\_\_\_ ("Bid"), to the City of San Pablo ("City") for work on the **EI Portal Drive Road Settlement Project** ("Project"). Under this duly executed bid bond ("Bid Bond"), Bidder as Principal and

\_\_\_\_\_, its surety ("Surety"), are bound to City as obligee in the penal sum of ten percent of the maximum amount of the Bid (the "Bond Sum"). Bidder and Surety bind themselves and their respective heirs, executors, administrators, successors and assigns, jointly and severally, as follows:

1. **General.** If Bidder is awarded the Contract for the Project, Bidder will enter into the Contract with the City in accordance with the terms of the Bid.
2. **Submittals.** Within ten days after City staff transmits the Contract to Bidder, as the apparent low bidder, for execution, Bidder must submit to City the following (refer to Notice Inviting Bids for project specific submittal requirements):
  - 2.1 **Contract.** The executed Contract, using the form transmitted by City;
  - 2.2 **Payment Bond.** A payment bond for 100% of the maximum Contract Price, executed by a surety licensed to do business in the State of California using the Payment Bond form included with the Contract Documents;
  - 2.3 **Performance Bond.** A performance bond for 100% of the maximum Contract Price, executed by a surety licensed to do business in the State of California using the Performance Bond form included with the Contract Documents; and
  - 2.4 **Insurance.** The insurance certificate(s) and endorsement(s) required by the Contract Documents, and any other documents required under the Instructions to Bidders.
3. **Enforcement.** If Bidder fails to execute the Contract and to submit the bonds and insurance certificates as required by the Contract Documents, Surety guarantees that Bidder forfeits the Bond Sum to City. Any notice to Surety may be given in the manner specified in the Contract and delivered or transmitted to Surety as follows:

Attn: \_\_\_\_\_  
 Address: \_\_\_\_\_  
 City/State/Zip: \_\_\_\_\_  
 Phone: \_\_\_\_\_  
 Fax: \_\_\_\_\_  
 Email: \_\_\_\_\_

4. **Duration; Waiver.** If Bidder fulfills its obligations under Section 2, above, then this obligation will be null and void; otherwise it will remain in full force and effect for 90 days following award of the Contract or until this Bid Bond is returned to Bidder, whichever occurs first. Surety waives the provisions of Civil Code Sections 2819 and 2845.

*[Signatures are on the following page.]*

This Bid Bond is entered into and effective on \_\_\_\_\_, 20\_\_\_\_\_.

SURETY:

\_\_\_\_\_

s/ \_\_\_\_\_

Name: \_\_\_\_\_

Title: \_\_\_\_\_

(Attach Acknowledgement, Notary Seal, and Attorney-In-Fact Certificate)

CONTRACTOR:

\_\_\_\_\_

s/ \_\_\_\_\_

Name: \_\_\_\_\_

Title: \_\_\_\_\_

END OF BID BOND

**BIDDER'S QUESTIONNAIRE**

**EL PORTAL DRIVE ROAD SETTLEMENT PROJECT**

Within 48 hours following a request by City, a bidder must submit to the City a completed, signed Bidder's Questionnaire using this form provided with the Contract Documents and including all required attachments. The City may request this from one or more of the apparent low bidders following the bid opening, and may use the completed Questionnaire to evaluate a bidder's qualifications for this Project. The Questionnaire must be filled out completely, accurately, and legibly. Any errors, omissions, or misrepresentations in completion of the Questionnaire may be grounds for rejection of the bid or termination of a Contract awarded pursuant to the bid.

**Part 1: General Information**

Contractor Name: KEREX ENGINEERING INC. ("Contractor")

Check One:  Corporation  
 Partnership  
 Sole Proprietorship  
 Joint Venture of: \_\_\_\_\_  
 Other: \_\_\_\_\_

Address: PO Box 23831

PLEASANT HILL, CA 94523.

Phone: 347 613-5788

Fax/Email: 877-413-9970, patrick@kerexengineering.com

Owner of Company: PATRICK MADDEN.

Contact Person: PATRICK MADDEN

Contractor's License Number(s): 1002915

**Part 2: Bidder Experience**

1. How many years has Bidder been in business under its present business name?  
3.5

2. Has Bidder completed projects similar in type and size to this Project as a general contractor?  
YES.

3. Has Bidder ever been disqualified on grounds that it is not responsible? If yes, provide additional information on a separate sheet of paper regarding the disqualification, including the name and address of the agency or owner of the subject project, the type and size of the project, the reasons that Bidder was disqualified as not responsible, and the month and year in which the disqualification occurred.

Yes   No

4. Has Bidder ever been terminated from a construction project, either as a general contractor or as a subcontractor? If yes, provide additional information on a separate sheet of paper regarding the termination, including the name and address of the agency or owner of the subject project, the type and size of the project, whether Bidder was under contract as a general contractor or a

subcontractor, the reasons that Bidder was terminated, and the month and year in which the termination occurred.

Yes \_\_\_\_\_  No \_\_\_\_\_

5. Has Bidder ever had its contractor's license revoked? If yes, provide additional information on a separate sheet of paper regarding the date and circumstances if any revocation.

Yes \_\_\_\_\_  No \_\_\_\_\_

6. Has Bidder filed for bankruptcy within the past five years? If yes, provide additional information on a separate sheet of paper regarding the date and circumstances.

Yes \_\_\_\_\_  No \_\_\_\_\_

7. Provide information about Bidder's past projects performed as general contractor as follows:

7.1 Any project which is similar to this Project. Projects which include specific experience in **pavement and sidewalk repair/reconstruction and trench excavations deeper than 10 feet** within the last three (3) years will receive the most consideration; and

7.2 Six (6) most recently completed public works projects within the last three (3) years; and

7.3 Three (3) largest completed projects within the last three (3) years.

8. Use separate sheets of paper provide all of the following information for each project identified in response to the above three categories:

- 8.1 Project Name
- 8.2 Location
- 8.3 Owner
- 8.4 Owner Contact (name and current phone number)
- 8.5 Architect or Engineer Name
- 8.6 Architect or Engineer Contact (name and current phone number)
- 8.7 Project Manager (name and current phone number)
- 8.8 Description of Project, Scope of Work Performed
- 8.9 Initial Contract Value (at time of bid award)
- 8.10 Final Cost of Construction (including change orders)
- 8.11 Original Scheduled Completion Date
- 8.12 Time Extensions Granted (number of days)
- 8.13 Actual Date of Completion
- 8.14 Number and amount of Stop Notices or Mechanic's Liens filed
- 8.15 Amount of liquidated damages assessed against Contractor
- 8.16 Nature and resolution of any claim, lawsuit, and/or arbitration between Contractor and the owner

### Part 3: Verification

In signing this document, I, the undersigned, declare that I am duly authorized to sign and submit this Bidder's Questionnaire on behalf of the named Bidder, and that all responses and information set forth in this Bidder's Questionnaire and accompanying attachments are, to the best of my knowledge, true, accurate and complete as of the date of submission. **I declare under penalty of perjury under the laws of the State of California that the foregoing is true and correct.**

Signature:  Date: 11/13/17

By [name, title]: PATRICK MADDEN, PRESIDENT.

For [name of Bidder]: KEREX ENGINEERING INC.

END OF BIDDER'S QUESTIONNAIRE